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TEST INSTRUCTIONS

Please make sure that you have a separate answer sheet with this
test paper.

Please check that the answer sheet has your details printed on it.
If not, print your name, date of birth and student number (if known)
on your answer sheet in the area provided.

Please check that the subject and grade number on your answer
sheet matches this question paper.

This test has 50 QUESTIONS. Each question has four possible
answers. Only one is correct.

Please use a pencil only to shade in the answer bubble of your
choice on your answer sheet.

Choose the correct answer from A, B, C or D and shade this
bubble in on your MATHEMATICS ANSWER SHEET .

If you make a mistake then rub out your answer completely and
shade in the bubble of your new answer.

All answers must be marked on your ANSWER SHEET. You are
allowed 1 hour and 20 minutes for this test.

2’
el gl u s
Abu Dhabi Education Council

PEARSON

A




Grade 12 Mathematics

Which number is classified as rational?

A 0
B V7
Cnn
D e

A survey was conducted at a local University. Students were asked which subject they most enjoyed.

The following table shows the results of the survey.

Gender/Subject Mathematics Science Language Total
Male 120 60 30 210
Female 80 40 20 140
Total 200 100 50 350

If a student is chosen at random from the University, what is the probability that the student is male

and has Mathematics as the most enjoyable subject?

.
. 4

The geographical coordinates of Abu Dhabi are given as (24°N, 54°E).
A traveller decides to fly from Abu Dhabi, 26° due South, then 24° West.

What are the geographical coordinates of the destination?

A (2°N, 78°E)
B (50°N, 30°E)
C (2°S, 30°W)
D (2°S, 30°E)




Grade 12 Mathematics

The following diagram shows a scatterplot of y
data collected between x and y.

What is the approximate associated correlation

coefficient?

A 05
B -1

C -02
D -038
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A bank offers an interest rate of 6% per annum, compounded monthly. Khalid decides to invest
2 000 Dhs over 3 years.

Which formula can be used to calculate the amount in Khalid's account at the end of those three
years?

A 2000(1.06)°

(
B 2000(0.005)%*
C 2000(1.005)
D 2000(1.005)%*

Which equation can be used to determine the size of angle 67

A sin9=% 5 cm
4 cm
_3
B cose—5
_3
C tan@—4 - 5
D sm9=% 3cm

The expansion of (2x2 — 1)? is

A 4x -1
B 4x*-2x2+1
C 4x*+1
D 4x*-4x2+ 1




Grade 12 Mathematics

The solution to the equation x* = 4x is

A x=4
B x=+2
C x=0orx=4
D x=0
)(21(24% can be simplified to
1
A x—1
X+2
B x-2
X—=2
c X+ 2
1
D 4x

Yasmeen is walking at 6 km/h along a straight road. Nada is initially 1.56 km behind Yasmeen, but

travelling at 6 m/s. The amount of time that elapses before Nada catches Yasmeen is

A 0.1 minutes
B 6 minutes

C 8 minutes
D

10 minutes

Y288 cm

12cm

The radius of the circle must be

A 6cm
B {12cm
C 12cm
D 24cm
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Grade 12 Mathematics

Consider the following diagram, not drawn to scale. x and y are in degrees.

/o>

Yy x \130°

Which one of the following statements is correct?

A x=65
B y=50
C y=x
D y-x=15
-3
The expression % can be simplified to
A 55x10°
B 55x10"
C 55x107
D 55x107

The line which joins (-4, 6) to (2, —3) can be described by which one of the following?

A Parallel to the x axis.
B Parallel to the y axis.
C Contains the origin.
D

Makes equal positive intercepts on the x and y axes.

N

33°

The value of xis

A 70
B 77
C 110
D 147




Grade 12 Mathematics

The value of x in the diagram is /\

1439 x°

37
53

137 v
143

OnN w>»

Abdullah and Hamad are working on a problem solving question. The probability that Abdullah
solves the problem is % while the probability that Hamad solves the same problem is % .
If they work on the problem independently, what is the probability that the problem will be solved

by at least one of the boys?

1
A 5
4
B 15
c 3
3
D 5
y
2_
1_
0 f } } } X
0° 180° 270° 360°
_1—
-2

What is the equation for the graph above?

A y=2sin2x
B y=2cos2x
C y=-2sinx
D y=-2sin2x




Grade 12 Mathematics

The acidity of a solution is measured by its pH, where pH = —log,, (hydrogen ion concentration).

The hydrogen ion concentration of a certain batch of grape juice is 0.0001.
What is its pH?
A 14

B
C 440
D

What is the solution to the equation x> - 5x = 6 — 10x ?
A x=1lor-6

B x=1

C x=-1orb6

D

x="T1orb

What is the equation of the line drawn?

A 3x+2y=3
B 2x+3y=3
C 2x+3y=6
D 3x+2y=6




Grade 12 Mathematics

Yahya is flying a kite. He is holding the kite by a string of length 20 m by his hand which is 2 m

above the ground. The wind is blowing the kite so that the angle of elevation from his hand to the
kite is 30°.

What is the exact distance that the kite is above the ground?

A

B
Cc
D

12 m
10 m

10V3m
10Y3+2m

Concentric circles are drawn as shown (not to scale).

The radius of the inner circle is 4 cm while the radius of the outer circle is 12 cm.

What is the ratio of the area of the inner circle to the area of the outer circle?

A

B
Cc
D

1:9
1:3
1:9m
3:4

A research project is undertaken to analyse the relationship between depth of water and the yield of

a rice crop. Statistics revealed that the correlation coefficient between the two variables was 0.98.

Based upon this statistic, which statement is not true for this research project?

A

B
Cc
D

There is a strong positive linear correlation between the two variables.
As the depth of water increases so will the rice yield.

The depth of water directly affects the rice crop yield.

We can confidently predict the rice yield given the depth of water.




Grade 12 Mathematics

What is a simpler form of the expression ﬁ ?
Xy
2
Ay
B ay
2
C @yx
2
> -5

A biased six sided die is rolled 600 times to determine its bias. The results are tabled below.

Side 1 2 3 4 5 6
Number of rolls 62 58 63 57 59 301

If the die is rolled again, what is the probability that it will land on a number less than 5?

o O w >
wl= = a o

A rocket is launched into the air from ground level. The height, h metres, at any time, t seconds, is

given as h = 2¢(5 - 1).

What is the maximum height reached by the rocket?

A 10m
B 12m
C 125m
D 175m




Grade 12 Mathematics

Rectangle PQRS is rotated clockwise to form R S ---o
rectangle PMNL. ™
\4
M
What is the centre and angle of rotation?
Centre of Rotation Angle of Rotation

A M 180°

B M 270° 0 P

C P 180°

D P 90°
PQRS is a rhombus of side length 8 cm. P

If PR has length 12 cm, then what is cos x?

A g
B 1
C;T% S R
D 15

The rectangle below represents a sample space.

A
What are events A and B? B
A complementary @
independent

B
C mutually exclusive
D

certain

What is the remainder when x* — 2x? + 3x - 5 is divided by x?

A 1

OO0 w
w

10




Grade 12 Mathematics

K¥A  \What describes the shaded region in the diagram below?

y

/
T

A x<2 N ys4—% A y<x+4
B x<2 M y24—% M y<x+4
C x=22 M y24—% N y<x+4
D x22 N y<4-5 N y2x+4

If sin © = tan O, then which statement is false?

A sin0=1
B cos0=1
C tan0=0
D sin6=0

What is the net for a triangular prism?

11




Grade 12 Mathematics

Amal has five different coloured roses, each in a separate pot.
She wishes to arrange them in a line on her balcony.

How many different ways can she arrange them according to colour?

A 5

B 24
C 60
D 120

Which expression does not match the graph shown?

y

T

A y=x>+2x-3
B y=(x+172-4
C y=x-1?2+4
D y=(x+3)x-1)

In the cube drawn below, what is the ratio of PQ to PR?

1:43
1:1
1:2
1:42

oOnN w >

12



38

Grade 12 Mathematics

The Meridien Hotel (M) and the Nahda Tower (N) are two very tall buildings in Abu Dhabi.

P

0 R
S T
M N

Which angle is equal to the angle of depression of the top of N from the top of M?

A PQOR
B PRQ
C PTS
D PRS

Which expression is equal to log(x9)*?

A X log x
B 2xlogx
C x(log x)?
D

x + log x?

Abdullah sells a book to lbrahim for 40 Dhs. Ibrahim sells it to Khalid at a profit of 25%.
Khalid sells it back to Abdullah at a loss of 20%

What is Abdullah's financial position?

A no profit or loss

B 5% profit
C 5%loss
D 10% loss

If a business fails, it does not continue into the next year. 60% of businesses fail in the first year.
The probability that a business is still operating in year 3 is 0.28.

Which percentage of businesses fail in the second year?

A 30%
B 50%
C 60%
D 70%

13



Grade 12 Mathematics

Two tangents are drawn to the circle as shown.

M is a point on the circumference.

What is the size of the angle marked as x?

A 100°
B 115°
C 130°
D not possible to determine

‘| o
A nautical mile is defined as the length of 1 minute ( 50 ) 2 c
of arc on a great circle on Earth.
B and C lie on a small circle of latitude 50° North.
How many nautical miles are there between B and C -
travelling across the North Pole?
A 2400
B 3000
C 4800
D 6000

The Venn diagram shows survey results for fruit in student lunches on a particular day for a group of
50 students.

Peach Orange

The probability that a randomly selected
student had an orange and a peach
was 0.16.

What was the probability that a randomly
selected student had an orange, not a
peach, for lunch?

12
A 023
B 0.31
C 046
D 0.62

14
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Grade 12 Mathematics

Which diagram is part of the graph of y = cos x?

W
S
e —

A dealer in gold and silver has 10 kg of necklaces. 10% of them are gold necklaces.

He sells 20% of his gold stock and 20% of his silver stock at a sale.

He replaces that sold stock with gold necklaces.

What % of his stock is now gold?

A 10
B 20
C 28
D 39

Solve the following equation if the solution must be a positive number.

10> -9(10+8 =0

A 1

B log1
C log8
D log?9

15



Grade 12 Mathematics

In the following diagram, tan ZSPR = % »
5
Y10
What is the value of cos y? N
S R
A _4 3
5
5
B _2>
9
4
c 5
D L
Y10

Only 10 students in a class had their textbook with them.
Only 75% had a ruler.

Eight students had a textbook and a ruler.

One third of those without a text had no ruler.

How many students had neither a textbook nor a ruler?

A

1
B 2
C 3
D 4

How many numbers less than 50 have exactly 3 unique prime factors?

A

1
B 2
C 3
D 4

16
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